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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1 3619 3.1 1.3 6 52.2 99.6
1 2 3622 3.7 1.5 6 61.5 99.7
2 1 3607 0.8 0.8 2 37.8 99.3
2 2 3578 1.9 1.7 6 31.7 98.5
2 3 3541 4.3 1.8 8 54 97.5
3 1 3600 3.3 1.1 4 81.8 99.1
3 2 3568 1.3 1 4 33.3 98.2
3 3 3570 4 1.6 6 67.1 98.3
3 4 3591 0.7 0.8 2 36.1 98.9
3 5 3486 1.8 0.6 2 89.8 96
3 6 3456 2.3 1.3 4 56.7 95.2
3 7 3549 4.3 1.7 8 54 97.7
3 8 3519 5.9 2.8 12 49.6 96.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2. PepsiCo – lots of people and lots of brands

PepsiCo UK & Ireland (PUK) employs over 5000 people across 13 locations. These locations
include the Quaker Oats mill at Cupar in Scotland and a world-leading potato crisp manufacturing
plant in Leicester. In addition it operates the Copella apple juice plant at Boxford in Suffolk, as well
as a number of other manufacturing, distribution and administration sites. Workforce planning
is essential for an organisation of this size and is key to its operational efficiency. Managing
such a large number of employees presents PepsiCo’s Human Resources department with a
considerable challenge when ensuring that the right people are employed in the organisation.

PepsiCo core brands are Walkers, Quaker, Tropicana and Pepsi – but the business also includes
a wide range of other products in its huge product portfolio including, Snack a Jacks, Sunbites
and Copella. Walkers Crisps alone have very many flavours, as illustrated in the box below.

© WJEC CBAC Ltd.

Current flavours offered by Walkers:

• BBQ Rib (Black) WITHDRAWN March 2013
• Cheese & Onion (Blue)
• Pickled Onion (Pale Green)
• Prawn Cocktail (Pink)
• Ready Salted (Red)
• Roast Chicken (Orange)
• Salt & Vinegar (Green)
• Smoky Bacon (Dark Red)
• Steak & Onion (Brown) WITHDRAWN March 2013
• Tomato Ketchup (Dark Brown & Dark Green)
• Worcester Sauce (Purple)
• Cheddar Cheese & Bacon (Dark Yellow)
• Sour Cream & Chive (Cream)

Steak & Onion and BBQ Rib have been withdrawn due to low sales (from Walkers Crisps 
Facebook page).

Source: Adapted from http://www.pepsico.co.uk/our-company

Why is workforce planning so important to large organisations such as PepsiCo?
[6]

2 2





Sticky Note
The importance of training is clearly emphasised. The analysis linking training to job rotation,saving money and recruitment is good. Top of level 2 achieved.


Sticky Note
Importance of identifying the need to have the required skills across the whole oganisation in order to raise productivity.





Sticky Note
The linking up of the first two points to form a conclusion related to more efficient recruitment and selection just lifts this response into level three. 

Sticky Note
Importance of qualifications and experiences recognised as well as the fact that labour targets are set and need to be achieved.

Sticky Note
The importance of  whether workers are needed on a full -time, part -time, flexible or temporary basis is identified; along with the fact that where they are needed in such a large organisation is also important.









Sticky Note
The importance of 'costs' in terms of the labour force is emphasised and appropriately analysed. Good knowledge is well applied in relation to both redundancies and natural wastage. Well deserving of all six marks. Always to the point, with no wasted sentences or repetition.

Sticky Note
Relevant knowledge in relation to skills and training. The importance of each is well explained and applied to the case in point.

Sticky Note
A strong opening - showing an understanding of why workforce planning is essential in order to achieve efficient running of a large scale organisation.
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Evaluate the usefulness of the Boston Matrix to large businesses such as PepsiCo 
when attempting to manage their extensive product portfolios.	 [8]2 3







Sticky Note
There is a  understanding of what the Boston Matrix is and how it might be used by a business with a large portfolio.



Sticky Note
There are a number of concerns in relation to the knowledge. Stars are not usually regarded as being in the maturity stage of their product life-cycle. Cash cows do not have a low market share in a high growth market. No mention is made of the 'problem child' category. There is merit in the analysis which takes the answer to the middle of Level 2. The element related to the 'dog' product makes good use of the example from the text. This answer shows the importance of learning the definitions and concepts thoroughly.









Sticky Note
Knowledge of the basic format of the Boston Matrix demonstrated. Level 1 attained.



Sticky Note
All four of the categories of the Matrix are explained in relation to how a business may manage them in order to improve the effectiveness of their portfolio.



Sticky Note
Some basic evaluation is displayed in this final section in relation to why a business may persist with a 'dog' product under the right circumstances. Just deserving of the top of Level 2 as a result, achieving 6 marks.







22: 6



23: 8

Sticky Note
Very good knowledge of the Matrix is demonstrated; the text and diagram are very well linked.

Sticky Note
The recognition of some of the short comings of the Matrix confirms this as a Level 3 response, deserving all  8 marks available. It is well communicated, makes very good use of terminology and is always to the point.

Sticky Note
There is a clear explanation of how each of the four elements of the Matrix may be managed and the importance of the support that some products give to others. Judgement is evident when emphasising the relative difficulty of managing 'problem children'. The understanding that 'dogs' can also be profitable is also impressive.
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Discuss the view that a democratic leadership style, in whatever size or type of 
business, is always likely to be the most effective in achieving success.	 [12]

3 8







Sticky Note
Sound understanding of a democratic style is evident and linked to its effectiveness in relation to productivity and profitability. A good start.



9

Sticky Note
The conclusion lifts the response into Level 3 and makes a mature point about the nature of the business as well as its size and the circumstances in which it finds itself.

Sticky Note
The development of the points related to laissez faire and paternalistic styles are not as well developed but are, nonetheless, relevant.

Sticky Note
The candidate now engages more fully in the discussion and explains when an autocratic leadership style may be more effective.





Sticky Note
The disadvantages of the democratic style are not as strong as the first part of the response. The evaluation is very basic and the candidate reaches the middle of Level two scoring half marks. The response is too brief and the discussion is only superficially developed.

Sticky Note
Some good points made here as to why a democratic style may be effective. The use of the example from the text relating to the apprentice enhances the response.









Sticky Note
Benefits of empowerment and employee motivation are well developed in the context of the discussion.

Sticky Note
A significant relevant point is explained and, most importantly, is related to the achievement of success i.e. is focused on the discussion .

Sticky Note
Good intoduction  - making good use of terms - involved and empowered.



Sticky Note
Further evaluation and analysis developed  - again using appropriate examples to illustrate the points made.

Sticky Note
A valid point is now made into the circumstances when a democratic style would not be the most effective - good examples are given.

Sticky Note
Again, focussed on the debate. Evaluation evident too when comparing with authoritarian style of leadership.

Sticky Note
Somewhat debatable analysis here in relation to a 'strong leader figure' but when compared to laissez-faire style it has merit.



11

Sticky Note
A sensible, if slightly brief conclusion, that recognises that different circumstances require different leadership styles. Very close to the top of Level 3.
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Question Answer 
Mark 


allocation 
Assessment 


objective 


2.2 Why is workforce planning so important to large 
organisations such as PepsiCo?  


Level 1 Candidate briefly outlines 1 or 2 reasons why 
workforce planning is so important to large organisations 
such as PepsiCo. 


Level 2 Candidate attempts to explain 1 or 2 reasons why 
workforce planning is so important to large organisations 
such as PepsiCo. 


Level 3 Candidate fully explains more than 2 reasons why 
workforce planning is so important to large organisations 
such as PepsiCo. 


Possible responses may include: 


 Important to establish that sufficient numbers are being
employed in order that all necessary tasks can be
carried out.


 Helps a business like PepsiCo to cost how many
workers it will need in the future and whether they are
part time or full time.


 It is important to identify the skills necessary for the
vacancies they may wish to fill.


 It is important to know when these workers will be
needed in order to put recruitment plans in place for
the future.


 Where will these workers be needed? PepsiCo has
many locations, both in UK and abroad. Which
departments/functional areas might they be needed
in?


 Important to identify who may need training to improve
skills or who can be redeployed to fill gaps where
certain skills are necessary.


 Important if business needs to rationalise – natural
wastage, voluntary redundancy, compulsory
redundancy, early retirement – the extent and cost of
these.


 Important because the firms need to establish the
types of contracts to offer employees, e.g. part-time,
permanent, zero hours etc.
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1-2 


3-4 


5-6 


AO2 2 
AO3 4 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


2.3 Evaluate the usefulness of the Boston Matrix to large 
businesses such as PepsiCo when attempting to 
manage their extensive product portfolios. 


Level 1 Candidate describes/illustrates the Boston Matrix. 


Level 2 Candidate explains the usefulness of the Boston 
Matrix in managing an extensive product portfolio and may 
attempt some basic evaluation. 


Level 3 Candidate fully evaluates the usefulness of the 
Boston Matrix to firms such as PepsiCo when managing an 
extensive product portfolio. 


Possible responses may include: 


 The Boston Matrix shows the market share of each of
PepsiCo’s products and the rate of growth of the
markets in which they operate.


 By highlighting the position of each product in terms of
market share and market growth, PepsiCo can analyse
its existing situation and decide what to do next.


 Cash cows – high sales generate cash which may be
used to help support new products being launched in
new or existing market segments. Less money is likely
to be used on supporting cash cows as they are already
established.


 Problem Child – could well provide a lot of revenue in
the future – probably the most difficult to manage. The
market is growing and therefore achieving a higher
market share would be the objective. Relatively high
levels of investment are needed to keep the products
going with re-launches. If this has been tried before,
may abandon the product.


 Star – doing well in a growing market. May well need
protection from competitors and money from the cash
cows can help to fund heavy promotion.


 Dogs – hold little appeal unless they can be revived.
Will probably be withdrawn from the market or may be
given one last chance. Dogs may be sold onto other
companies and removed from the portfolio.


8 


1-2 


3-6 


7-8 


AO1 1 
AO2 1 
AO3 2 
AO4 4 
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Question Answer 
Mark 


allocation 
Assessment 


objective 


However: 
• The Boston Matrix is just a generalisation. Cash Cows


can lose money and Dogs can be profitable in the right
circumstances.


• Customer opinions and loyalty need to be taken into
account. Market share can be a reflection of how long
PepsiCo has been in a market or the success of its
recent marketing mix. If there is a high degree of loyalty
among PepsiCo’s customers, this might enable it to
overcome apparent weaknesses in terms of it products’
position in the Boston Matrix.


• A mass market, such as the one PepsiCo operates in,
with low growth might offer far more opportunities to
increase sales revenue and profit than a small, niche
market with high growth.


• The Matrix can cause firms to focus too much upon
pursuing increasing market share as opposed to, for
example, attempting to consolidate market share or
improve other aspects of the performance of the
product.


• The model does not entirely take into account the way
in which products within a business support each other.


(ii)
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Question Answer Mark 
allocation 


Assessment 
objective 


3.8 Discuss the view that a democratic leadership style, in 
whatever size or type of business, is always likely to 
be the most effective in achieving success. 
 


Level 1 Candidate demonstrates a basic understanding of 
the concept of democratic leadership.  
 


The candidate organises information and presents simple 
ideas in a clear manner using some appropriate 
terminology.  Errors in grammar, punctuation and spelling 
may be noticeable and intrusive suggesting weaknesses in 
these areas. 
 
Level 2 Candidate attempts to explain why a democratic 
leadership style is likely to be the most effective in 
achieving success and may attempt some basic 
evaluation. 
 


The candidate can organise relevant information and 
express moderately complex ideas clearly in a coherent 
manner.  There is good use of specialist terminology.  
Occasional errors in grammar, punctuation and spelling 
occur but they are not sufficient to suggest a weakness in 
these areas. 
 
Level 3 Candidate fully evaluates the view that a 
democratic leadership style, in whatever size or type of 
business, is always likely to be the most effective in 
achieving success. 
 
The candidate can organise effectively relevant 
information and express complex ideas extremely clearly 
and fluently.  There is very good use of specialist 
terminology.  There are few, if any, errors of grammar, 
punctuation and spelling. 
 
Possible reasons may include: 


 A democratic leadership style encourages participation 
in decision making. 


 A democratic leadership style can be persuasive or 
consultative. 


 Requires good two-way communication – the leader 
needs to be able to explain ideas clearly and 
understand any feedback they receive. 


 More effective because managers are able to ‘tap into’ 
the ideas of workers who may be innovative, 
knowledgeable or experienced. Better decisions result. 


 More effective because workers are likely to be more 
committed and motivated to accept decisions made 
with their help. 


 More effective because workers are more likely to 
volunteer new and creative ideas without fear of 
criticism or repercussions. 


 More effective because it empowers workers and 
leads to, potentially, better decision making. 


 


12 
 
 
 


1-4 
 
 
 
 
 
 
 
 


5-8 
 
 
 
 
 
 
 
 
 
 
 


9-12 


AO1 2 
AO2 2 
AO3 1 
AO4 7 
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Question Answer Mark 
allocation 


Assessment 
objective 


 However, it may not always be the most effective: 


 It may result in decisions taking much longer to be 
reached as lengthy consultations may take place. 


 Whist a more highly skilled workforce may be more 
productive when their opinions are sought, they may 
even prefer a laissez faire leadership style, having even 
more responsibility for making their own decisions. 


 Democratic leadership styles can lead to confusion the 
greater the size of the group, as communication can be 
more difficult. 


 Some groups of workers prefer to be directed rather 
than contribute; due to lack of interest or because they 
believe management are paid to make decisions and 
shoulder the responsibility. 


 Democratic leadership may not be suited to certain 
circumstances – an emergency may require an 
autocratic approach in order to get tasks done quickly to 
avoid the situation escalating further. 


 It may be wrong to assume that all workers in an 
organisation react in the same way to a particular 
management style. What is effective with some workers 
may not be with others and therefore a varied approach 
may be necessary, depending on the situation being 
faced. 
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